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Évaluation en langue d’origine (CYCLE III) : Géorgien 
 
 

        ufvjhxtekb crjkf… 

    vtjht lqtc, lbkbs, f[fkufphlf ]fljmht,b ufvjw[fllyty rkfcib, cflfw 
]fljcyehb gjhwbbc ufvjwlf eylf xfnfht,ekb.j.  hjujhw .jdtksdbc, 
vcufdc itvs[dtdfib, thsudfhb fqtkdt,f ceatdlf ]fljmht,ib. xtvb vtpj,tkb, 
hjvtkbw .dtkfpt eahjcb uf[klfs ]fljmht,c ijhbc, thsflthsb b.j, 
hjvtkcfw fhfathb tcofdkf, vfuhfv vfy .jdtksdbc .dtkfathb bwjlf lf fctsb 
cf[bc ufvjwlt,c vbbxytdlf, hjujhw thsudfh ajhvfkt,fc. vfy fcobf [tkb : 
- ,jlbibs, mfk,fnjyj, udfmdc se fhf eakt,f, ufvjdb.tyjs ktmwbbc xfyfotht,b? 
- f,f, ujujyt,j, smdtyc flubkt,pt ! dbxmfhjs ! ,hUfyf vfcofdkt,tkvf. sbsjtekb 
sbsj mdf,sfy lf]ltc lf flubkb fh /mjyltc uflfkfgfhfrt,fc. fb ufvjwlbc 
cfrbs[b ; smdty eylf vjfvpfljs cbwbkbc vjvudhtkb gjhwbf cf[tkvUqdfytkj- 
t,bc ufvj.tyt,bc ufhtit. smdty, ,jkjib, us[jds cfcohfajl lf[ehjs 
obuyt,b, iteltmbs veifj,fc lf hjltcfw lffvsfdht,s, ufcby]fds wjnfjltyc 
smdtyc vbth vjvpflt,ekb gjhwbblfy, hfsf itdfvjovjs vbcb tatmnehj,f. 
f,f, lfbo.ts ! 
               ;bk vehabc vb[tldbs, fvfylby vfkf,ekb,  vje[th[t,tkb ]fljmfhb. 

 

 

 

egfce[t itrbs[dt,c lf itvj[fpt cojhb gfce[b. 
 

1 . dby fhbc ntmcnbc fdnjhb ? 

fvfylby vfkf,ekb.            ;bk vehab. vfcofdkt,tkb. 

2.hfnjv fh /ufdc tc ufrdtsbkb c[df ufrdtsbkt,c ? 

 
 

- vjcofdktt,b Ufkptl f[fkufphlt,b fhbfy. 

 
- vjcofdktt,b ]fljmht,b fhbfy 
 

   
 
 
 
 
 

- vfcofdkt,tkb cfrvfjl vrfwhbf. 
 
-vjcofdktt,b ]fljmht,b fhbfy. 
 
 
 
 

3.fmds se fhf vjcofdktt,c eakt,f, thsvfytsc lft[vfhjy ? 

 

 

lbf[.   fhf. vwbhtjlty. 

4.hjujh fvjovt,c vfcofdkt,tkb ufvjwlbc ofhvfnt,bs xf,fht,fc ? 

 
 
 

 
- vjcofdkt cbwbkc bo.t,c. 
 
- vjcofdkt cbxevtc byfhxeyt,c. 

 
- vjcofdkt bo.t,c kfmkfmc. 
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